

Some Fixed Point Theorems Using n-property in Menger Space

M.S. Chauhan^a
Rajabhoj Govt. College,
Mandideep Dist., Raisen (M.P.) India

Dheeraj Aheere^b
Research Scholar,
Vikram University, Ujjain (M.P) India

Bharat Singh^c
SOC & E IPS Academy
Indore (M.P.) India

Abstract-

The purpose of this paper is to prove a coupled fixed point theorem for contractive mappings in complete Menger space satisfying n-property.

Keywords - Probabilistic metric space, coupled fixed point, semi-compatible, coupled coincidence point and n-property.

I. INTRODUCTION

There have been a number of generalizations of metric space. One such generalization is Menger space introduced in 1942 by the great mathematician Menger [6] who used distribution functions instead of nonnegative real numbers as the value of metric. Later there are many authors who have some detailed discussions and applications of a probabilistic metric space, for example, we may see Schweizer and Sklar [10]. Besides, there are many results about fixed point theorems in probabilistic metric space with contractive types having appeared. The notion of compatible maps in Menger Spaces has been introduced by Mishra [9]. In this paper, using the idea of compatible maps, we apply semi-compatibility for pair of mappings in Menger space and here we prove a coupled fixed point theorem for contractive mappings in complete Menger space satisfying n-property. Which was introduced in fuzzy metric space by Sedghi *et al* [16].

II. PRELIMINARIES

In this section, we recall some definitions and known results in Menger Probabilistic metric space. For more details, we refer the readers to [1-9,12].

Definition 2.1 A triangular norm $*$ (shortly t-norm) is a binary operation on the unit interval $[0, 1]$ such that for all $a, b, c, d \in [0, 1]$ the following conditions are satisfied :

- (a) $a * 1 = a$;
- (b) $a * b = b * a$;
- (c) $a * b \leq c * d$ whenever $a \leq c$ and $b \leq d$;
- (d) $a * (b * c) = (a * b) * c$.

Example 2.1 $a * b = \max\{a + b - 1, 0\}$ and $a * b = \min\{a, b\}$.

Definition 2.2 A distribution function is a function $F: [-\infty, \infty] \rightarrow [0, 1]$ which is left continuous on \mathbb{R} , non-decreasing and $F(-\infty) = 0, F(\infty) = 1$.

We will denote Δ the family of all distribution functions on $[-\infty, \infty]$. H is special element of Δ defined by

$$H(t) = \begin{cases} 0 & \text{if } t \leq 0, \\ 1 & \text{if } t > 0. \end{cases}$$

If X is nonempty set, $F: X \times X \rightarrow \Delta$ is called a probabilistic distance on X and $F(x, y)$ is usually denoted by F_{xy} .

Definition 2.3 (Schweizer and Sklar [10]) The ordered pair (X, F) is called a probabilistic metric space (shortly PM-space) if X is a nonempty set and F is a probabilistic distance satisfying the following conditions: for all $x, y, z \in X$ and $t, s > 0$,

(FM-0) $F_{xy}(t) = 1 \Leftrightarrow x = y$;

(FM-1) $F_{xy}(0) = 0$;

(FM-2) $F_{xy} = F_{yx}$

(FM-3) $F_{xz}(t) = 1, F_{zy}(s) = 1 \Rightarrow F_{xy}(t + s) = 1$.

The ordered triple $(X, F, *)$ is called a Menger space if (X, F) is a PM-space, $*$ is a t-norm and the following conditions is also satisfied: for all $x, y, z \in X$ and $t, s > 0$,

(FM-4) $F_{xy}(t + s) \geq F_{xz}(t) * F_{zy}(s)$.

Proposition 2.4 (Sehgal and Bharucha- Reid [15]) Let (X, d) be a metric space. Then the metric d induces a distribution function F defined by

$F_{xy}(t) = H(t - d(x, y))$ for all $x, y \in X$ and $t > 0$. If t-norm $*$ is $a * b = \min\{a, b\}$ for all $a, b \in [0, 1]$ then $(X, F, *)$ is a Menger Space. Further, $(X, F, *)$ is a complete Menger space if (X, d) is complete.

Definition 2.5 (Mishra [9]) Let $(X, F, *)$ be a Menger space and $*$ be a continuous t-norm

- (a) A sequence $\{x_n\}$ in X is said to be converge to a point x in X (written $x_n \rightarrow x$) iff for every $\varepsilon > 0$ and $\lambda \in (0, 1)$, there exists an integer $n_0 = n_0(\varepsilon, \lambda)$ such that $F_{x_n x}(\varepsilon) > 1 - \lambda$ for all $n \geq n_0$.
- (b) A sequence $\{x_n\}$ in X is said to be Cauchy if for every $\varepsilon > 0$ and $\lambda \in (0, 1)$ there exists an integer $n_0 = n_0(\varepsilon, \lambda)$ such that $F_{x_n x_{n+p}}(\varepsilon) > 1 - \lambda$ for all $n \geq n_0$ and $p > 0$.
- (c) A menger space in which every Cauchy sequence is convergent is said to be complete.

Remark 2.6 If $*$ is a continuous t-norm, it follows from (FM-4) that the limit of sequence in Menger space is uniquely determined.

Definition 2.6 [16] Let $(X, F, *)$ be a Menger space, F is said to satisfies the n-property on $X^2 \times (0, \infty)$ if

$$\lim_{n \rightarrow \infty} [F_{xy}(k^n t)]^{n^p} = 1$$

Whenever $x, y \in X, k > 1$ and $p > 0$.

Example 2.7 (Example of n-property) Let (X, d) be an ordinary metric space $a * b = ab$ for all $a, b \in [0, 1]$ and

$F_{xy}(t) = \left[\frac{t}{t+1}\right]^{d(x,y)}$ for every $x, y \in X, t > 0$ then we have

$$\lim_{n \rightarrow \infty} [F_{xy}(k^n t)]^{n^p} = \lim_{n \rightarrow \infty} \left[\frac{k^n t}{k^n t + 1}\right]^{d(x,y)n^p} = e^A = 1$$

Since

$$A = \lim_{n \rightarrow \infty} \left[\frac{k^n t}{k^n t + 1} - 1\right] d(x, y)n^p = \lim_{n \rightarrow \infty} \frac{-d(x, y)n^p}{k^n t + 1} = 0.$$

Therefore F satisfies the n-property on $X^2 \times (0, \infty)$.

Lemma 2.8 Let $\{x_n\}$ be a sequence in a Menger space $(X, F, *)$ with continuous t-norm $*$ and $a * b \geq ab$. For all $a, b \in [0, 1]$ F satisfies the n-property. Suppose $\{x_n\}$ is a sequence in X such that for all $n \in \mathbb{N}$

$$F_{x_n x_{n+1}}(kt) \geq F_{x_{n-1} x_n}(t)$$

For every $0 < k < 1$, then the sequence $\{x_n\}$ is a Cauchy sequence.

Proof- For every $x_n, x_{n+1} \in X$, we have

$$F_{x_n x_{n+1}}(t) \geq F_{x_0 x_1}\left(\frac{t}{k^n}\right)$$

On the other hand for every $m > n$, and $0 < k < 1$ we have

$$(1 - k)(1 + k + \dots + k^{m-n-1}) = 1 - k^{m-n} < 1$$

And so for every $t > 0$, we have

$$t(1 - k)(1 + k + \dots + k^{m-n-1}) < t$$

Now since F is non-decreasing therefore

$$\begin{aligned} F_{x_n x_m}(t) &\geq F_{x_n x_m}(t(1 - k)(1 + k + \dots + k^{m-n-1})) \\ &\geq F_{x_n x_{n+1}}(t(1 - k)) * F_{x_{n+1} x_{n+2}}(t(1 - k)k) * \dots * F_{x_{m-1} x_m}(t(1 - k)k^{m-n-1}) \\ &\geq F_{x_0 x_1}\left(\frac{(1-k)t}{k^n}\right) * F_{x_0 x_1}\left(\frac{(1-k)t}{k^n}\right) * \dots * F_{x_0 x_1}\left(\frac{(1-k)t}{k^n}\right) \\ &\geq \left[F_{x_0 x_1}\left(\frac{(1-k)t}{k^n}\right)\right]^{m-n} \\ &\geq \left[F_{x_0 x_1}\left(\frac{(1-k)t}{k^n}\right)\right]^m \\ &\geq \left[F_{x_0 x_1}\left(\frac{(1-k)t}{k^n}\right)\right]^{n^q} \rightarrow 1. \end{aligned}$$

Where $q > 0$, such that $m \leq n^q$. Hence the sequence $\{x_n\}$ is a Cauchy sequence.

Definition 2.7 An element $(x, y) \in X \times X$ is called a coupled fixed point of the mapping $T: X \times X \rightarrow X$ if

$$T(x, y) = x, T(y, x) = y$$

Definition 2.8 An element $(x, y) \in X \times X$ is called a coupled coincidence point of a mapping $f: X \times X \rightarrow X$ and $g: X \times X \rightarrow X$ if

$$f(x, y) = gx, f(y, x) = gy.$$

Definition 2.9 The mappings $f: X \times X \rightarrow X$ and $g: X \rightarrow X$ are said to be semi-compatible if

$$\lim_{n \rightarrow \infty} F_{gf(x_n, y_n)f(x, y)}(t) = 1$$

or

$$\lim_{n \rightarrow \infty} F_{gf(y_n, x_n)f(x, y)}(t) = 1 .$$

For all $t > 0$, whenever $\{x_n\}$ and $\{y_n\}$ are sequences in X such that

$$\lim_{n \rightarrow \infty} f(x_n, y_n) = \lim_{n \rightarrow \infty} g(x_n) = x$$

$$\lim_{n \rightarrow \infty} f(y_n, x_n) = \lim_{n \rightarrow \infty} g(y_n) = y$$

For all $x, y \in X$ are satisfied .

Note - for convenience we denote

$$[F_{xy}(t)]^n = \underbrace{F_{xy}(t) * F_{xy}(t) * \dots * F_{xy}(t)}_{n\text{-times}}$$

For all $n \in N$.

III. Main Results

Theorem 3.1 Let $a * b \geq ab$, for all $a, b \in [0,1]$ and $(X, F, *)$ be a complete Menger space such that F has n-property. Let $f: X \times X \rightarrow X$ and $g: X \rightarrow X$ be two functions such that

$$F_{f(x,y)f(u,v)}(kt) \geq F_{gxgu}(t) * F_{gygv}(t) \quad \dots \quad (2.1)$$

for all $x, y, u, v \in X$, where $0 < k < 1$, $f(X \times X) \subseteq g(X)$ and g is continuous and the pair $[g, f]$ is semi-compatible. Then there exists a unique $v \in X$, such that

$$x = gx = f(x, x) .$$

Proof- Let x_0, y_0 be two arbitrary points of X . Since $f(X \times X) \subseteq g(X)$, we can choose $x_1, y_1 \in X$ such that $gx_1 = f(x_0, y_0)$ and $gy_1 = f(y_0, x_0)$ again from $f(X \times X) \subseteq g(X)$ we can choose $x_2, y_2 \in X$ such that $gx_2 = f(x_1, y_1)$ and $gy_2 = f(y_1, x_1)$. continuing this process we can construct two sequences $\{x_n\}$ and $\{y_n\}$ in X such that

$$gx_{n+1} = f(x_n, y_n) \text{ and } gy_{n+1} = f(y_n, x_n) \quad \dots \quad (2.2)$$

For all $n \geq 0$.

Now, we denote

$$\delta_n(t) = F_{gx_n, gx_{n+1}}(t) * F_{gy_n, gy_{n+1}}(t)$$

From (2.2) and (2.1) we get

$$\begin{aligned} F_{gx_n gx_{n+1}}(kt) &= F_{f(x_{n-1}, y_{n-1})f(x_n, y_n)}(kt) \geq F_{gx_{n-1} gx_n}(t) * F_{gy_{n-1} gy_n}(t) \\ &= \delta_{n-1}(t) \quad \dots \quad (2.3) \end{aligned}$$

Similarly from (2.1) and (2.2)

$$\begin{aligned} F_{gy_n gy_{n+1}}(kt) &= F_{f(y_n, x_n)f(y_{n-1}, x_{n-1})}(kt) \geq F_{gy_{n-1} gy_n}(t) * F_{gx_{n-1} gx_n}(t) \\ &= \delta_{n-1}(t) \quad \dots \quad (2.4) \end{aligned}$$

Adding by t-norm * (2.3) and (2.4) we obtain

$$\delta_n(kt) \geq \delta_{n-1}(t) * \delta_{n-1}(t) \geq [\delta_{n-1}(t)]^2 \quad \dots \quad (2.5)$$

Thus we have

$$\delta_n(t) \geq \left[\delta_n \left(\frac{t}{k} \right) \right]^2 \geq \dots \geq \left[\delta_0 \left(\frac{t}{k^n} \right) \right]^{2^n}$$

That is, we have

$$F_{gx_n gx_{n+1}}(kt) * F_{gy_n gy_{n+1}}(kt) \geq \left[F_{gx_0 gx_1} \left(\frac{t}{k^n} \right) \right]^{2^n} * \left[F_{gy_0 gy_1} \left(\frac{t}{k^n} \right) \right]^{2^n} \quad \dots \quad (2.6)$$

On the other hand, since

$$t(1-k)(1+k+\dots+k^{m-n-1}) < t$$

For every $m > n$, and $0 < k < 1$ we have

$$\begin{aligned} F_{gx_n gx_m}(t) * F_{gy_n gy_m}(t) &\geq F_{gx_n gx_{n+1}}(t(1-k)(1+k+\dots+k^{m-n-1})) * F_{gy_n gy_{n+1}}(t(1-k)(1+k+\dots+k^{m-n-1})) \\ &\geq F_{gx_n gx_{n+1}}(t(1-k)) * F_{gy_n gy_{n+1}}(t(1-k)) * F_{gx_{n+1} gx_{n+2}}(t(1-k)k) * \dots * F_{gy_{n+1} gy_{n+2}}(t(1-k)k) * \\ &\dots * F_{gx_{m-1} gx_m}(t(1-k)k^{m-n-1}) * F_{gy_{m-1} gy_m}(t(1-k)k^{m-n-1}) \end{aligned}$$

$$\geq F_{gx_0 gx_1} \left((1-k) \frac{t}{k^n} \right) * F_{gy_0 gy_1} \left((1-k) \frac{t}{k^n} \right)$$

$$\begin{aligned} & F_{gx_0gx_1} \left((1-k) \frac{t}{k^n} \right) * F_{gy_0gy_1} \left((1-k) \frac{t}{k^n} \right) \\ & \geq \left[F_{gx_0gx_1} \left((1-k) \frac{t}{k^n} \right) \right]^{m-n} \left[F_{gy_0gy_1} \left((1-k) \frac{t}{k^n} \right) \right]^{m-n} \\ & \geq \left[F_{gx_0gx_1} \left((1-k) \frac{t}{k^n} \right) \right]^m \left[F_{gy_0gy_1} \left((1-k) \frac{t}{k^n} \right) \right]^m \\ & \geq \left[F_{gx_0gx_1} \left((1-k) \frac{t}{k^n} \right) \right]^{n^q} \left[F_{gy_0gy_1} \left((1-k) \frac{t}{k^n} \right) \right]^{n^q} \rightarrow 1 \end{aligned}$$

Where $q > 0$ such that $m \leq n^q$. therefore for each $0 < \varepsilon < 1$ and $t > 0$ there exist $n_0 \in \mathbb{N}$ such that for each $m, n \geq n_0$

$$F_{gx_ngx_m}(t) * F_{gy_ngy_m}(t) > 1 - \varepsilon$$

hence

$$F_{gx_ngx_m}(t) > 1 - \varepsilon$$

and

$$F_{gy_ngy_m}(t) > 1 - \varepsilon .$$

This shows that $\{gx_n\}$ and $\{gy_m\}$ are Cauchy sequences in X .

Since X is complete there exist $x, y \in X$ such that

$$\lim_{n \rightarrow \infty} gx_n = x \text{ and } \lim_{n \rightarrow \infty} gy_n = y \quad \dots \quad (2.7)$$

From (2.7) and continuity of g we have

$$\lim_{n \rightarrow \infty} ggx_n = gx \text{ and } \lim_{n \rightarrow \infty} ggy_n = gy \quad \dots \quad (2.8)$$

We now show that

$$gx = f(x, y) \text{ and } gy = f(y, x)$$

By the semi-compatibility of $[g, f]$ we get

$$\lim_{n \rightarrow \infty} F_{gf(x_n, y_n)f(x, y)}(t) = \lim_{n \rightarrow \infty} F_{ggx_{n+1}f(x, y)}(kt) = 1$$

This yields

$$F_{gxf(x, y)}(kt) = 1 \quad , \quad (\text{by using (2.8)})$$

Hence

$$gx = f(x, y)$$

Similarly we can show that

$$gy = f(y, x)$$

Now we show that $gx = y$, and $gy = x$.

From (2.2) and (2.1) we get

$$F_{gxgy_{n+1}}(kt) = F_{f(x, y)f(y, x_n)}(kt) \geq F_{gxgy_n}(t) * F_{gygx_n}(t)$$

So letting $n \rightarrow \infty$ this yields

$$F_{gx}(kt) \geq F_{gx}(t) * F_{gy}(t) \quad \dots \quad (2.9)$$

Similarly from (2.2) and (2.1)

$$F_{gx_{n+1}gy}(kt) = F_{f(x_n, y_n)f(y, x)}(kt) \geq F_{gx_ngy}(t) * F_{gy_ngx}(t)$$

So letting $n \rightarrow \infty$ this yields

$$F_{gy}(kt) \geq F_{gy}(t) * F_{gx}(t) \quad \dots \quad (2.10)$$

Adding by t -norm * (2.9) and (2.10) we obtain

$$\begin{aligned} F_{gx}(kt) * F_{gy}(kt) & \geq F_{gx}(t) * F_{gy}(t) * F_{gy}(t) * F_{gx}(t) \\ & \geq [F_{gx}(t) * F_{gy}(t)]^2 \end{aligned}$$

Thus

$$\begin{aligned} F_{gx}(t) * F_{gy}(t) & \geq \left[F_{gx}\left(\frac{t}{k}\right) * F_{gy}\left(\frac{t}{k}\right) \right]^2 \geq \left[F_{gx}\left(\frac{t}{k^2}\right) * F_{gy}\left(\frac{t}{k^2}\right) \right]^4 \\ & \dots \dots \dots \\ & \geq \left[F_{gx}\left(\frac{t}{k^n}\right) * F_{gy}\left(\frac{t}{k^n}\right) \right]^{2n} \\ & \geq \left[F_{gx}\left(\frac{t}{k^n}\right) \right]^{2n} \left[F_{gy}\left(\frac{t}{k^n}\right) \right]^{2n} \rightarrow 1 \text{ as } n \rightarrow \infty. \end{aligned}$$

Hence

$$y = gx = f(x, y)$$

Similarly

$$x = gy = f(y, x)$$

Now we prove that $x = y$. Suppose to the contrary from (2.2) and (2.1) we get

$$F_{g^{x_n+1}g^{y_{n+1}}}(kt) = F_{f(x_n, y_n)f(y_n, x_n)}(kt) \geq F_{g^{x_n}g^{y_n}}(t) * F_{g^{y_n}g^{x_n}}(t)$$

So letting $n \rightarrow \infty$ this yields

$$F_{x, y}(kt) \geq F_{x, y}(t) * F_{y, x}(t)$$

Thus

$$\begin{aligned} F_{x, y}(t) &\geq \left[F_{x, y}\left(\frac{t}{k}\right) \right]^2 \\ &\geq \left[F_{x, y}\left(\frac{t}{k^2}\right) \right]^4 \\ &\dots \\ &\geq \left[F_{x, y}\left(\frac{t}{k^n}\right) \right]^{2^n} \rightarrow 1 \text{ as } n \rightarrow \infty. \end{aligned}$$

Thus

we

prove

that

$$x = gx = f(x, x).$$

That is f and g have a common fixed point. The uniqueness of x follows from inequality (2.1).

Corollary 3.2 Let $a * b \geq ab$, for all $a, b \in [0, 1]$ and $(X, F, *)$ be a complete Menger space such that F has n -property. Let $f: X \times X \rightarrow X$ be a functions such that

$$F_{f(x, y)f(u, v)}(kt) \geq F_{xu}(t) * F_{yv}(t)$$

for all $x, y, u, v \in X$, where $0 < k < 1$,

Then there exists a unique $x \in X$, such that $x = f(x, x)$.

Proof - If we set $g = I$ in theorem 3.1 then the proof is complete.

Example 3.3 Let $X = [-2, 2]$, $a * b = ab$ for all $a, b \in [0, 1]$ and $\varphi(t) = \frac{t}{t+1}$.

Then $(X, F, *)$ is a complete Menger space where

$$F_{xy}(t) = [\varphi(t)]^{|x-y|}$$

For all $x, y \in X$. define map f on $X \times X$ as follows

$$f(x, y) = \frac{x^2}{8} + \frac{y^2}{8} - 2 \text{ and } g(x) = x.$$

It is easy to see that $f(X \times X) = [-2, -1]$ therefore $f(X \times X) \subseteq g(X)$

Then f satisfies all the conditions of theorem 3.1 and there exist a point.

$x = 2 - 2\sqrt{3}$, which is the unique common fixed point of f and g .

References

- [1] G. Constantin, I. Istratescu, *Elements of Probabilistic Analysis*, Ed. Acad. Bucuresti and kluwer Acad. Publ., 1989.
- [2] O. Hadzic, Fixed point theory in probabilistic metric spaces, *Serbian Academy of Science and Aets*, Novi Sad University, 1995.
- [3] T.L. Hicks, Fixed point theory in probabilistic metric spaces, *Rev. Res. Novi Sad*, 13 (1983).
- [4] S. Kutukcu, D. Turkoglu, C. Yildiz, A common fixed point theorem of compatible maps of type (A) in fuzzy metric spaces, *J. Concr. Appl. Math.*, in press.
- [5] I. Istratescu. On generalized complete probabilistic metric spaces, *Rev. Roum. Math. Pures Appl.* XXV (1980), 1243-1243.
- [6] K.Menger, *Statistical metric*, Proc. Nat. Acad. Sci.28 (1942), 535-537.
- [7] G. Jungck, Commuting mappings and fixed points, *Amer. Math. Monthly*, 83 (1976), 261-263.
- [8] M.M. Milovanovic- Arandelovic, A common fixed points theorem for contraction type mappings on Menger spaces, *Filomat* 11 (1997), 103-108
- [9] S.N. Mishra, Common fixed points of compatible mappings in PM-spaces, *Math. Japon.*, 36 (1991), 283-289.
- [10] B. Schweizer, A. Sklar, *Statistical metric spaces*, Pasific J. Math. 10 (1960), 673-675.
- [11] E. Pap. O Hadzic, R. Mesaiaar. A fixed point theorem in probabilistic metric spaces and an application, *J. Math. Anal. Appl.*, 202 (1996), 433-449.
- [12] B. Singh, S. Jain, A fixed point theorem in Menger Space through weak compatibility, *J. Math. Anal. Appl.* 301 (2005), 539-448.
- [13] Xin-Qi Hu, Common coupled fixed point theorems for contractive mappings in fuzzy metric spaces. Hindawi publishing corporation Fixed point theory and application V.2011, Article id 363716.

- [14] R. Vasuki, A fixed point theorem for a sequence of maps satisfying a new contractive type condition in Menger spaces, *Math. Japonica* 35 (1990), 1099-1102
- [15] V.M. Sehgal and A.T. Bharucha-Reid, Fixed points of contraction mappings on probabilistic metric spaces, *mathematical systems theory* 6 (1972), no. 1-2, 97-102.
- [16] Shaban sedghi, Ishak Altun and Nabi Shobe. Coupled fixed point theorem in fuzzy metric space. *Nonlinear analysis* 72 (2010), 1298-1304.